Chapter 10 Vector Algebra

EXERCISE 10.1

Question 1:
Represent graphically a displacement of 40km, 30° east of north.

N Scale
A —
10km
P
o/ 40km
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W<€ 0 >E
W
S

LI .
OP represents the displacement of 40km, 30° north-east.

Question 2:

Classify the following measures as scalars and vectors.

(1) 10 kg (i1) 2 meters north-cast (ii1) 40°
(iv) 40 watt (v) 107" coulomb (vi) 20m/s*

(1) 10kg is a scalar.
(11) 2 meters north-west is a vector.

(i) 40°is a scalar.
(iv) 40 watts is a scalar.
(vy 107" Coulomb is a scalar.

(viy 20m/s’is a vector

Question 3:

Classify the following as scalar and vector quantities.

(1) time period (i1) distance (1i1) force
(iv) velocity (v) work done.

(i) Time period is a scalar.
(i1) Distance is a scalar.
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(i1i1) Force is a vector.
(iv) Velocity is a vector.
(v) Work done is a scalar.

Question 4:
In figure, identify the following vectors.
—
a 5
— -
d b
Y 4
b ->
¢
(1) Coinitial (i1) Equal (1i1) Collinear but not equal.

(i)  Vectors a and j are coinitial.
(i) Vectors b and 3 are equal.

(i11)) Vectors a and ¢ are collinear but not equal.

Question 5:
Answer the following as true or false.

() a and —a are collinear.

(i) Two collinear vectors are always equal in magnitude.

(i) Two vectors having same magnitude are collinear.

(iv) Two collinear vectors having the same magnitude are equal.

(i) True.
(i) False.
(ii1) False.
(iv) False
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EXERCISE 10.2

Question 1:
Compute the magnitude of the following vectors:

A R LI
;:1'4:;'4:!(; t;zif—%j—gk; CzﬁH_ﬁ‘]_ﬁk

JOy () +(1) =5
o= (2 (1) +(3) =aw 2939 - &2

FOROECIR RS

Question 2:
Write two different vectors having same magnitude.

(]
Il

Lot c?:(i—ij+§k] i ;:(ifﬁ;'—§k]

=+ (2 +3 =ix 479 =12
=2+ +(-3) = aw179 = ia

But a=b

Question 3:
Write two different vectors having same direction.

o 7 ™ T T
Letp:(z+J+k andq=(21+2j+%

L
The DCs of P are
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The DCs of ¢ are

e 3 2
V22422422 243
. 2 2
V22420422 23
2 2
n:

V22222 243

e
But P#4

Question 4:

Find the values of x and y so that the vectors 2i+3/ and Xi+y/ are equal.

It is given that the vectors 2i+3/ and Xi+ Y/ are equal.

Therefore,

- .

2i+3j=xi+yp]j
On comparing the components of both sides
=>x=2

= y=3

Question 5:

Find the scalar and vector components of the vector with initial point (2.1) and terminal point
(=5.7)

Let the points be P(2.1) and 9(-5.7)
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PO=( i 2y+ (7-1)j

——71+61

So, the scalar components are =7 and 6, and

the vector components are —7i and 6/ .

Question 6:

=7 A ~ ~ -

Find the sum of the vectors a =i—2j+k, b=-2i-4j+5k and c=i—6j+7k

-7 -

The given vectors are a=i-2j+k, b=-2i-4j+5k and c=i—6j+7k

Therefore,
a+b+re=(1-2+1)i+(-2+4-6)j+(1+5-7)k
=0i-4j—k
=4k
Question 7:

=7 A ~

Find the unit vector in the direction of the vector @ =i+ j+ 2k i

- ~

We have a-z+;+2k

Hence,
|J=JP+F+§
=+1+1+4

Therefore,
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Question 8:

LILL]
Find the unit vector in the direction of vector U, where P and Q are the points (L.2.3) and

(4.5.6) respectively.

We have the given points P(1.2,3) ang Q(4.5.6)

Hence, . R A .
PO=(4-1)i+(5-2)j+(6-3)k
=§i+§j+§k
=27
=33

So, unit vector is
LT

_ ﬂ+§j+§k
L

3BT

Question 9:

=7 ~ =7 A ~

For given vectors, @=2i— j+2k and b=—i+j—k  find the unit vector in the direction of the

vector a+b .

- A ~ - A ~ ~

The given vectors are a=2i— j+2k and b=—i+j—k

Therefore,

—_— ~ ~

i+(=1+1)j+(2-1)k
J

—
a+

~

(2~
10701k

+0
ik

—
|a+f:[=\;‘]2+]2 =2

T

Thus, unit vector is
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— 7 A A

a+b i+k

’a+b - V2
I, A=
=—,_2t+—,—2k

Question 10:

~ ~

Find a vector in the direction of vector 5/—j+2k which has magnitude 8 units.

=7 A ~

Let a:Si—JH—Ek

Hence,
=5+ (=17 +(2F
_ V354174
=30
Therefore,

Thus, a vector parallel to 5/ — j+2k with magnitude 8 units is
§a:3 5i—j+2k
J30
40~, 8~ 16~

= i— + k
NN RN

Question 11:
Show that the vectors 2i—3j+4k and —4i+6,/—8k are collinear.

We have a:if—gj-i-‘;k and b:—:h'+8j—§k
Now,
b=-4i+6;-8k
=—2(2f?—§j+4k)
ﬁ

=-2a
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Since, b’= Aa
Therefore, A =-2

So, the vectors are collinear.

Question 12:

Find the direction cosines of the vector i +2/+3k

= A ~

Let a =£+2‘j+§k
Therefore,
Hz LS, (e
=J1+4+9
=14

3 3

1 2 3 }
Thus, the DCs of alare[ 14 14 14

Question 13:

Find the direction of the cosines of the vectors joining the points A(1.2.-3) and B(-1.-2.1)
directions from A to B.

The given points are A(1,2,-3) anq B(-1.-2.1),

Therefore,

AB = (~1-1)i+(-2-2§ j+{1-(-3) &

= 2i_4jvak
[%{: JE2) +(—4) +4°
=/4+16+16
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[ 2 44] (1 j
L T T = | T e
Thus, the DCs of 4B are \ 6 6 6 37 3°3

Question 14:
Show that the vector i+j+# is equally inclined to the axis OX, OY and OZ.

=7 A ~

Leta=i+j+k

Therefore,
|J:JF+P+E
=3

1 1 1
Thus, the DCs of a are (\E ’ \5\6]

Now, let @, and 7 be the angles formed by a with the positive directions of .} and Z axes
respectively

Then,
]

1 1
,Co8 B =—=.,cosy =—
B =g V=5

Hence, the vector is equally inclined to OX, OY and OZ.

Cosa =

Question 15:
Find the position vector of a point R which divides the line joining two points P and Q whose

position vectors are i+2j—k and —i+ j+k respectively, in the ratio 2:1.
(i)  Internally
(i) Externally

Position vectors of P and Q are given as:

~

T~ 2~ o~ LT - -
OP=i+2j—k and OQ=—i+j+k

(i)  The position vector of R which divides the line joining two points P and Q internally in
the ratio 2:1 is
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M 2(:E;j£k)+.l‘(i+§j:k)
2+1
(—§i+§_j+§k)+(f+§j:k)
3

3 :i+ij$k
3
F 4, T
=—i+—j+=k
3 37 3
(i)  The position vector of R which divides the line joining two points P and Q externally in the
ratio 2:1 is
OB 2(-i+)j+k)-1{i+2/-k)
OR = >

~ ~

(—§i+2j+2k]—(i+§j:k)
1

=—3i+§k

Question 16:

2,3,4)

Find the position vector of the mid-point of the vector joining the points P( and

0(4.1.-2)

The position vector of the mid-point R is
15y (§i+§_j+2k)+(zli-:_j—§k)
OR=
2
(2+4)i+(3+1)j+(4-2)k
2
_Gi+4j+2k
2
=3i+2j+k

Question 17:

Show that the points A,B and C with position vectors, a=3i—4j—4k,b=2i—j+k and

=7 A

¢=i—3j—5k  respectively form the vertices of a right angled triangle.
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Position vectors of points A, B, and C are respectively given as:

= A ~ ~

a= 3:—4] 4k b=2i—j+k andC—£—3J Sk

Therefore, o A R .
AB=b-a=(2-3)i+(-1+4) j+(1+4)k
:: §;+§k
- -
BC=c-b=(1 2):+(—a+l);+( 5—1)
=Zi+2j—6k
- --)
E@?za c=(3- ])f+( 4+3)_,!+( 4+5)
:if:j+k
Now,
Wiy 2 2 2
|AB =(-1)" +3*+5*=1+9+25=35
(1 3 ;
|BC =(~1)" +(=2)" +(-6)" =1+4+36 = 41
[I]H’-" a2 2 el
[CAl =22 +(-1) +17 =4+1+1=6
Also,

|%F+‘%ugr=35+6

by

Thus, ABC is a right-angled triangle.

Question 18:
In triangle ABC which of the following is not true.

(A) AB+§%+%‘U,=O
(B) AB+BC-4C =0
(C) 4B+BC-C4=0
(D) 4B-¢B+dd=o0
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A >'B

On applying the triangle law of addition in the given triangle, we have:

AB+BC+CA=0 .(2)

Z
o
=
=5
o
8
o
Q2
c
o
=
@]
=
S—

Hence, the equation given in option B is true.

Also,

Hence, the equation given in option D is true

Now, consider the equation given in option C,

D" LUT” Lo
AB+BC—-CA=0

= AB+BC=CA4 ...(3)

From equations (1) and (2)

= AC=Cd
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Which is not true. So, the equation given in option C is incorrect.

Thus, the correct option is C.

Question 19:
If @ and b are two collinear vectors, then which of the following are incorrect?

A b= )La', for some scalar A

,

(B) a=xb
(c)  the respective components of  and b are proportional.

(D) both the vectors @ and » have same direction, but different magnitudes

If @ and b are collinear vectors, they are parallel.

Therefore, for some scalar A
b=2Aa
If A=+1,then a=+b

— ®

Ifa =ali+a;,r'+a:k and bzbhli+b:_,i+b’;k
Then,
=b=Aa
= b::'+ b:‘j+b?k =A(a:f+a:_j+a:k)
= bi+h, j+hk=(Aa)i+(Aa)j+(Aa, )k

Comparing the components of both the sides

= b] = la,
_’
= b = lag
-
= b} = ;‘.01
Therefore,
b_b _b_,
a, a, a,

Thus, the respective components of a and b are proportional.

However, @« and » may have different directions.
Hence, that statement given in D is incorrect.

Thus, the correct option is D.
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EXERCISE 10.3

Question 1:

Find the angle between two vectors a and b with magnitude V3 and 2, respectively have

afblz \/E

It is given that

75
|b =2
-
ab=+6
Therefore,
= JE = J_%x 2cosf
J6
= cosf =
\/?:XZ
= c0sf =—
2
=0==2
4
Question 2:

Find the angle between the vectors i—2j+3k and 3i—2j+k,

Let Gi=2j48k and B=Ar=275k
Hence,
H:,u%(—z)z +3 =1+4+9 =14
|Ef= 3 (-2) +P =Vo+4+1=114
- ,\ ~ ~ ~ ~
a.b=[.572;'+3k)(3.f*2j+k)
=|><3+(—2)(—2)+3><l

=3+4+3
=10

Therefore,
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= 10=\/ﬁ\/ﬁc039

1

:>(:059=-E

=60 =cos '[E]
7

Question 3:

A

Find the projection of the vector i~/ on the vector i+ J

=7 A ~ 7 A ~

Let a=i—j and b=i+J

Projection of @ on & is

Question 4:

Find the projection of vector i+3j+7k on the vector 7i—j+8k

=7 A ~

Let a:hf+§j+$k and b:?s‘—j+§fc

Projection of a on b is

ﬁ(% \/m_]nf — () +3(-1+7()

1
=—(7-3+56
\/49+I+64( )

60
114

Question 5:
Show that each of the given three vectors is a unit vector which are manually perpendicular to
each other.
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%(EH§j+8k),%(gi—aj+§k),%(éi+§j—§k)

Let
;2%(§I+§j+8k)=—?+%\j+—}‘(
qz%(%r—%;+£k]:%z—gj+;
;=%(61+§J—§k)=—1+§j—%k
Now,

OG-
- g ) = ]
2 OROROR -

So, each of the vector is a unit vector.

(78]
~—%
+
|

~1
i R
-
+
P

2
i

Hence,

i P 6) 6 2 6 18 12
ab=—=x—+=%x| —— |+—x—=——-—+—=0

7 7°7 7). 7 7 49 49 49
"“362[6](3]218126
be==x—+=-AN— [+| = |x==—-—-— =0

7 7 7 i 7) 7 49 49 49
2> 2 6 3 2 6 3 12 6 18
ca=—xX—+—X—+—x|—-—=|=—+—+—=0(

7 7 7 7 17 7) 49 49 49

So, the vectors are mutually perpendicular to each other.

Question 6:

l:[, if (;”;j(;_b =8 and HZSH

Find H and

It is given that (;r gj(;_ b)=8 and H: SH
Therefore,
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:(;r;j(;—f:jzéi
—- S 9

= aa—-ab+ba-bb=8§

G
= (8} -pf =3
<o -
:>63‘;F:9
=pf =2
|- %
22
37

-t
_8><2\/§
Y
_16V2
ENG

Now,

Question 7:

Evaluate the product (3;_ 55}(2; 7{?}

T e A ——

(3a s Sb_j(Za + :r'z:j =3 On+3n. b= 5h2a=5hT7h
- s 3 -

= 6aa+2lab—10ab—-35bb

o
=6\;F +11ab—35|!:f

Question 8:

Find the magnitude of two vectors a and b , having the same magnitude and such that angle
1
between them is 60° and their scalar product is 2
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Let 6 be the angle between @ and b
1

N
It is given that H: H, ab= 2 and 0 =60°
Therefore,
= £ = ‘;Eﬂcos 60°
2
-
2 2

:\;Fﬂ
-

Question 9:
Find H, if for a unit vector a, (x_‘:j'(“"‘“L ‘:j =12

= xx+xa—ax—aa=12

- )
:>‘x —|;r212

-
:»‘x¥1=12
:‘;rzm
SN ENE

Question 10:
If a=2i+2j+3k, b=—i+2j+k and c=3i+ are such that a + Ab is perpendicular to ¢, then

find the value of 4.

Jj+k and ¢=3i+j are such that a+1b is perpendicular to

We have a=2i+2j+3k, b=—i+2
"
Then,

- -

a+lb=(ii+§j+§k)+l(:i+§j-:k)
:(2—Ajs'+(2+213j+(3+ljk
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Now, . _
::»(a-i-).b_j.c:O
=[(2-2)i+(2+22) j+(3+A)k ] (3i+ /) =0
=3(2-2)+(2+22)+0(3+1)=0
=6-31+2424=0
=-A+8=0
=Ai=8

Question 11:

Show that HbJr ‘!:[a is perpendicular to Hb N Hﬂ , for any non-zero vectors aand b .

(5 8- - e e
R -A

Question 12:
If aa=0 and a.b =0, then what can be concluded above the vector b ?

We have a.,a’z 0 and a:b'z 0

Hence,

Therefore, a is the zero vector

Thus, any vector b can satisfy a.b=0

Question 13:

If a,b.c are unit vectors such that a+b+c¢ =0, find the value of ab+b.c+ca.
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We have 4,b,¢ are unit vectors such that a+bh+c¢ =0

Therefore,
= - - - - >
|a+b+;r=(a+b+;5.(a+b+c_-j

-
0:‘;r+‘gr+|gr+2(a.b+b.c+m
-

0:I+1+]+2(a.b+b.c+c.a

- = E
(a.b +bc+cal= ?

Question 14:

If either vector a=0 or 5=0, then a.b =0. But the converse need not be true. Justify the
answer with an example.

Let a:if+3j+§k and b:§i+§j—8k

Therefore,
ab=2(3)+4(3)+3(-6)
=6+12-18
=0
Now,
Hz\/zﬁ +47 +3%=4/29
—
=az0
H:Jf +324(-6)" =+/54
—’
=h=0

So, the converse of the statement need not to be true.

Question 15:

If the vertices A, B, C of a triangle ABC are (1,2,3),(-1,0,0),(0.1,2) respectively, then find
Ly .
ZABC . [ £ABC is the angle between the vectors 84 and BC ]

Vertices of the triangle are A(1,2,3), B(-1,0,0) 5pq C(0.1,2)
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Hence,

~ A ~

IL}E;{1—(1)}:‘+(2—0)‘j+(3—0)k
D]E_’=§r‘+£j+§k
BC ={o—(-1)}i+(1-0) j+(2-0)k
afJ:j+§k
BA_BC=(21+2_;+3k)(;+ J+2k)
=2x14+2x1+3x2

=2+2+6
=10

L (N
i

=6
Wz ‘%%Tcos(ﬁﬁ(?)

s

Therefore,
=10= \/I_T’X«./E(COSAABC)
10

V17x+/6
= (lABC)z cos_](

= cos(ZABC) =

—

10
V102
Question 16:

Show that the points A(1,2,7), B(2,6,3) and C(3.10-1) are collinear.

The given points are A(1,2,7), B(2,6,3) anq C(3,10-1),

Hence,
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AB=(2-1)i+(6-2)j+(3-T)k=i+4j- 4k
BC =(3-2)i+(10—6) j+(~1-3)k = i +4j -4k
AC =(3-1)i+(10-2) j+(-1-7)k = 2i+8 - 8k
TB = o2 (), =T+16+16 =5
D= 7+ 4+ (4] =TT 16716 = V53

] 1
AC)=NF 48 +8 = VAT 64164 = 233

Therefore,

. -

_,2\/_

- |

Hence, the points are collinear.

Question 17:

Show that the vectors 2i—j+k, i~3j -5k and 3i—4/—4k form the vertices of a right angled
triangle.

Lot OA=2i— j+ kOB =i—3j—5k ad OC=3i—4j— 4k

Hence, R " A A A
%ﬁl(1—2)f+(—3+1)j+(—5—1)k=—f—2j—6k
=(3=1)i+(-4+3)j+(-4+5)k=2i j{k
Y= (2-3)i+(—1+4) j+(1+4)k="i+3)+5k
; .4 2 2
|9§ :\j(—l)“ +(=2)" +(-6)" =V1+4+36 =41
; i 4
%:,{23+(—1)'+13:\/4+1+1=«/6
* 2
|%=,f(—l)’ +3+5 ={149+25=4/35
Therefore,

|%T+‘%ET:6+35

=4]

|8
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Thus, A4BC is a right-angled triangle.

Question 18:

If a is a nonzero vector of magnitude ‘a’ and A a nonzero scalar, then Aa is a unit vector if

1
a=—

(A) =1 (B) A=—1 ©) a=4 o)

é‘l;[=l
= [a]|a] -1
H-

4]

1

= a=—
2

Hence the correct option is D.
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EXERCISE 10.4

Question 1:

Pind |58 i6 22127 47k and b =3i-3)4 34

We have, a=i—7/+7k and b=3i—2j+2k
Hence,

ik
- -
axb=|1 -7 7
3 -2 2

Zi(~14+14)= j(2-21)+ k(=2+21)
=19/ +19%
Therefore,

|J’><E[= (19) +(19)°

=\2x(19)"

—19/2

Question 2:

7 A

Find a unit vector perpendicular to each of the vector a+b and a—b, where a=3i+2j+2k
and b;£+§j—§k .

We have a:§i+§j+§k and b;f+§j—§k.
Hence,

- TF A

a+b=4i+4;j
- =3 L e
a—hbh=2i+4k

Therefore,
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~ ~

Tt Wiy

o IR S
B o &

i
4
2

s

i(16)= j(16)+ k(-8)
16i—16—8k

‘(c: b—jx(:— E)‘ =16 + (~16)" +(-8) =2’ x8+ 22 x8* + 8’

=8V27+22+1=89
=8x3I=74

So, the unit vector is

Question 3:

If a unit vector @ makes an angle 3 with i, 4 with / and an acute angle 0 with k , then find

6 and hence, the components of a.

- ~ ~ ~

Let the unit vector 4 =ai+a,j+ak

I

Then,

Now,
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cos@ = == a, = cosb

E

Therefore,

=.Jal +a:+a; =1

A )

1
:>4+ +cos’0 =

=3 tcos?g =1
4

-
4 4

= cosf =l
2

Hence,

I\J‘I-—
SI —_
]

o==2 - [
3 and components of « are

So,

Question 4:
Show that (a —f:jx(ah?;j - 2(a><;j
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LHSz(;—gjx(;JrE:j
=(;—b x;+(;—b -
e T I S e S

—axa—-bxa+axb-bxb
- = = -

=04+axb+axb-0
- -

=2axh
= RHS

Question 5:

Find 4 and £ if (§f+8j+2?k)x[f+ij+ﬁk)=o

We have (éi+8j+2;k)x{f+if+‘:k)=o
Therefore,
:(§i+8J'+2$k)><[f+/{j+ﬁk)_—,o

~ ~

i j ok
=2 6 27|=0i+0j+0k
1 A u

~

= (61~ 274) ~ j (2 —~27)+ k (22~ 6) = 0i+ 0, + 0k

On comparing the corresponding components, we have:

6u—-271=0
2u—-27=0
2.-6=0
Now,
20-6=0=>1=3
2u—2?=0=>,u=2—;
Question 6:

Given that ah=0 and axb—0. What can you conclude about a and b2

When a};'zo
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Either H: 0 or H:O

Oralb (if [0 gng Hi 0

When axb =0

EitherH: 0 or H: 0

orallb (if 20 1ng I 0,

Since, a and b cannot be perpendicular and parallel simultaneously.
So, a’=0 or b’=0.

Question 7:

Let the vectors @b,c given as &i+a,j+ask bi+b j+bk c¢i+c,j+ck Then show that

- b - -7 -— -
ax(b+;j:a><b+a><c

We have

a:a:i+a;j+a:k

b=bi+b,j+bk

c=¢f;z'+c;j+c:k
Then, _

(b+3=(b]+cl)i+(b3+c2)j+(b3+c3)k
Now,
5y J k f,-[a?(b;+c3)—a_~,(b2+cz)1:j|:a](b_;+c3)—a3(b]+¢<I)J
ax(b+gj a 4 a, = a

b+c, b+e, b+c, +k|:al(b2+c2)—a2(bl+cl)]

?:‘ [azb_n‘ +a,c,—ab, - a_n‘c)] -Ifj[—alb_n‘ —ac,+ab + a,,c,]

L +k|ab, +ac,—ab —ayc,| J

Also,
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ik
- =
axb=a, a, a,
b b, b

r[ ab]+;[ab ab]+k[ab ]

Zilaye, —ae, |+ j[ac, - ac, |+ k[ae, —ax ]

Therefore,
4} —j { [af2 —-ab, ]+j[a3b —a]b3]+ k [(.;:‘.34_772 —azb,]
a xb a X )
+ifa,c, - azcz]+j[a2 —ac,|+k[ae, —ac ]
ilayb, + a,c, — asb, —ayc, | J:j [Fab, —ac, +ab +ayc ]
ik [{;rlb2 +a,6, —a,b —a,c, ]
Thus,

—r - - - -_—r -
ax(b+;j=a><b+a><c

Hence proved.

Question 8:

If either a=0 or =0, then axbh=0. Is the converse true? Justify your answer with an
example.

Let a=5f+§j+2k and b=:1.i+gj+§k

Therefore,
oo | J ok
axb=2 3 4
4 6 8
;5(24 24]—;(]6—]6)+k(l2—]2)
=0
Now,

|;(=\/23+32 +4* =29


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

Thus,

4

az0

|E:[=\/42+63+82 =J116

Also,

Thus,
b=0

Hence, converse of the statement need not to be true.

Question 9:

Find the area of triangle with vertices A(1,1,2) B(2,3,5) and C(L.5.5),

Vertices of the triangle are A(1,1,2) B(2,3,5) and C(1.5.5)

Hence,

4B =(2-1)i+(3-1)j+(5-2Jk

I]]H:A R

BC =(1-2)i+(5-3) j+(5=5)k

=i 2]
Therefore,
1 I
. ar(A4BC)=—|4BxBC

Area of the triangle 2

Now,

~ ~

i ]
A1 2
2

-1

=

Zi(~6)- j(3)+k(2+2)
=—8i—§j+2k

H“?x %@T: J6) +(=3) +4°
~J36+9+16
- V6l

Therefore,
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ar(AABC)z%\/a
G
2

Question 10:
Find the area of the parallelogram whose adjacent sides are determined by the vector

=7 A ~ ~

a=i—j+3k and b=2i—Tj+k

=7 A ~ ~

We have a=i—j+3k and b=§f—$f—:k

Hence,
sy [E 4 B
axb=1 -1 3
2 -7 1

=i(=1+21)= j(1-6)+k(~7+2)
—20i+5/— 5k

axt[=\207 545
=/400+25+25

=152

Thus, the area of parallelogram is 152 square units.

Question 11:

S T i _2 .
Let the vectors @ and / be such that |a =3 and 3 ,then axb isaunit vector, if the angle

between a and b is

(A) 6 (B) 4 (©)

3 (D) 2

s -
We have |‘:[:3, H:T and |axJ:l

Therefore,
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:>Hc;ﬂbsinﬂ -1

:>3><T2><sin9 =1

’ 1
=sinf =—
J2
=0= £
4
Question 12:
A s ln : ~
. . . . —i+—j+4k
Area of the rectangle having vertices A, B, C and D with position vectors 2 ,

'i+rj+21k 'i—rj+2k :1'—Ej+2k . .
2 2 and 2 , respectively is

b

1
(A) 2 (B) 1 (€) 2 (D) 4

. A(:H:;‘Jr-’-’ik] B[i+rj+-’1k] C[f—rﬁﬁfc) D[:z‘—r_;#ak)
We have vertices 2 , 4 , 2 and 2 )

Therefore,

Now,

k(-2)
=2k

ATy
=2

So, area of the rectangle is 2 square units.


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

MISCELLANEOUS EXERCISE

Question 1:
Write down a unit vector in XY-plane, making an angle of 30° with the positive direction x-
axis.

-

Unit vector is #=cos0i+sin€j where 0 is angle with positive x-axis.

Therefore,
r=c0s30°% +sin30°;
= ﬁl +£]
2 2
Question 2:

Find the scalar components and magnitude of the vector joining the points © (%.%:2) and

Q(xzsyzszz),

We have P(’rl’yl’zl) and Q(xzsyzazz)

Therefore,
PO=(x,-x)i+ (3, -2) j+(z.=2 )k
‘%Tz \/(xz - X )2 +()’2 _Jf’l)2 +(22 -4 )2

Hence, the scalar components of the vector is {(“"2 —x)+(3n-»)+ (-3 )} and magnitude of

the vector is \/(xz _xl)z +(» -7 )2 +(z,-2 )2 .

Question 3:
A girl walks 4 km towards west, then she walks 3 km in a direction 30° east of north and stops.
Determine the girl’s displacement from her initial point of departure.

Let O and B be the initial and final positions of the girl, respectively.
Then, the girl’s position can be shown by the below diagram:
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‘\.’

.
.
:
o
Y
_m?\,\:*

W A60°
A 4 km O

VY=

We have:
[ Tim
OA=—-4i

I%T cos60° 4:‘ Jj

3

~ l ~
=i3x—+ J3x—
2 J 2

3. 33>

:—1-+— ]
2 2 4

E!Er sin 60°

U~
AB =i

By the triangle law of addition for vector,

OB —-04+ 48
(3, &,
:(—4r)+(51 +Tj]

[ 3]. NE
=|-4+=|i+—
2 2
[~3+3}_ 33>
= ==

2

e L
7 2

J

5. 5,
Hence, the girl’s displacement from her initial point of departure is 2 3 4

Question 4:

If a=hyt c', then is it true that H: |J+ |CT‘7 Justify your answer.
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In AABC

ch= a:%%; band 45 =

By triangle law of addition for vectors

-

a=b+c

By triangle inequality law of lengths
T

Hence, it is not true that H: |J+ H

Question 5:

~ ~

x(i+j+k)

1S a unit vector.

Find the value of x for which

We have a unit vector x[I +J +k)
Therefore,

i‘x(f-l:‘j-:k)‘zl
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Question 6:

=7 A

Find a vector of magnitude 5 units, and parallel to the resultant of the vectors a=2i+3j—k

and b;f—ﬁj'—;k_

We have a:5f+§j—hk and b;f—ﬁj-:k

Hence,

c,:a,+b
=(2+1)i+(3-2) j+(-1+1)k

=8l
i

=9 +1

=10

Therefore,

So, a vector of magnitude 5 and parallel to the resultant of a and bis

=s{ el 4)

== i —
2 2 /
Question 7:
If a=i+j+k, b=2i—j+3k and c¢=i-2j+k find a unit vector parallel to the vector
2a—-b+3c.

= A ~

We have a=i+ j+k, b=2i— j+3k and c=i—2j+k

Therefore,
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2;513;:2(:‘f;‘ik)-(if—”;‘+§k]+3{i-—2}$k)
=2i+2j+2k—2i+ j—3k+3i-6j+3k
=§>r’—§j+£k
- - -
|2a—b+36_|)=\/32+(—3)' +2°
=J9+9+4
=22

So, the required unit vector is

2a-b+3c 3i-3j+2k
’2a—b+30 J22

3~ 3= 2 =
: j k

+

NN 7 RN )

Question 8:

Show that the points A(1.-2.-8),B8(5.0.-2) apnq C(11.3.7) are collinear and find the ratio in
which B divides AC.

We have points 4(1:=2,-8).8(5,0.-2) apq C(11.3.7)

Therefore,
B = (5-1)i +(0+2) j +(-2+8)k =41+ 2 + 6k
BC =(11 —55;‘+(3—Oj“;'+(7+2’)\k = 8i+§‘;'+§k
= (11-1)i+(3+2) j+(7+8)k =10i+5+15k
W= V27 6 =6+ 4736 = V56 = 2414
R =G+ +97 = V369781 = iZ6 = 3173
%T: J107 £ 52 4152 = J100+ 25+ 225 = /350 = 514

Now,

ﬂﬁﬂ ]ﬁﬂ: 214 + 314
=5J14

-|df
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Thus, the points are collinear.

Let B divides AC in the ratio 4:1

Therefore,
M A8 8
C(A+])
i A1 Iz‘+3j+7k)+(;~2j~8k)
A+l

= (A+1)(5i-2k) =1141+34j+T Ak +i~2j -8k

=5(A+1)i-2(A+1)k=(11a+1)i+(34-2) j+(74 -8k
On equating the corresponding components, we get

= 5(A+1)=(112+1)
=>5A+5=111+1
=64 =4

2

=A==
3

Thus, the ratio is 2:3.

Question 9:
Find the position vector of a point R which divides the line joining two points P and Q whose

position vectors are (Z‘ng and (a_?’gj externally in the ratio 1:2. Also show that P is
midpoint of the line segment RQ.

We have OP =2a+b,00 = a-3b

It is given that point R divides a line segment joining two points P and Q externally in the ratio
1: 2.

Then, on using the section formula, we get:
1zs 2(2a+b_j—(cr—2;j
Ok = 2-1

e e

_4a+2b-a-3b
|

=3a+5b
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Hence, the position vector of R is 3a +5b

LT LT
00+ OR
2

R
Thus, the position vector of midpoint of 0

b”é:%%* (;_3§j+(3;+5§j
2 2

=2a+b
Ilag
=0OP

Thus, P is the midpoint of line segment RQ.

Question 10:

The two adjacent sides of a parallelogram are 2i—4/+5k and i—2/ -3k Find the unit vector
parallel to its diagonal. Also, find its area.

Diagonal of a parallelogram is at+h

” ~ ~

a+b=(2+1)i+(~4-2)j+(5<30k
=§£—8j+§k

So, the unit vector parallel to the diagonal is

— — &

atbh  3i-6j+2k

‘0""3’ J3" +(—6)2+22
3i-6j+2k
vI9+36+4
3i-6j+2k
7

BICEEN

Area of the parallelogram is ‘a +J
Now,
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i Aj |
- =
axb=2 -4 3§
1 -2 -3

|

i(12+10) j(—6-5)+ k(-4+4)
=22i+11;
:11(5:’?;’)

—_
|a+J=1w23+13:11\/§

So, area of parallelogram is 11V5 square units.

Question 11:
Show that the direction cosines of a vector equally inclined to the axis OX, OY and OZ are

1 1 1
i ‘“_-“"_—_-!_-‘
(55%)
Let a vector be equally inclined to OX, OY and OZ at an angle «

So, the DCs of the vectors are cosa ,cosa and cosc .

Therefore,
cos’ o +cos’ o +cos’a =1

= 3cos’ o =1

, 1
= COS o =—
3

1
=cosa =t—=
V3

1 1 1
df = 2
Thus, the DCs of the vector are [ 3 V3 43 ] )

Question 12:

=7 A ~

Let a=i+4/+2k b=3i-2j+7k and c¢=2i—j+4k . Find a vector d which is perpendicular
to both @ and 4, and ol =15 .

Let d- cfjf i d;.f a2 d_:f'f'
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Since, d is perpendicular to both a and b‘, we have

da=0

=d, +4d,+2d,=0 (1)
And

b=0

=3d,-2d,+7d,=0  ...(2)

Also, it is given that

;.97:15

=2d,—d, +4d, =15 13)

On solving equations (1)-(2) and (3), we get

G190 g 510
3 ) 3 - 3
Therefore,
[
d= @5_2]-_1};(
3 3 3

=%(166£§j76k)

Question 13:

The scalar product of the vector i+ / +k with a unit vector along the sum of vectors 2i+4j —5k

and Ai+2j+3k is equal to one. Find the value of 1.

(§f+21j—§k]+(if+§j+§k)=(2+Ajf+8j—5k

Therefore, unit vector along (2j+4j ~Sk)+():f+ ‘2\"; +‘jk) is o
(2+A)i+6j-2k  (2+A)i+6j-2k  (2+A)i+6j-2k

J2+2) 8 4 (=2) CJa+4a+22+36+4 A +ar+ a4

Scalar product of i+ j+k with this unit vector is 1.
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:>‘(i":_f':ff]- (2+2)i+65-2k -
VAL +42+44

(2+2)+6-2
— e —
JA*+4L+44
= VAT +41+44=1+6
= A +4A+44=(A+6)
= A 40+ 44 =22 +121+36
=81=8
=>A=1

|

Question 14:

If a,b.¢ are mutually perpendicular vectors of equal magnitudes, show that the vector a+b+c

is inclined to a.b,c.

Since, 4.b,¢ are mutually perpendicular vectors of equal magnitudes
Therefore,

v

a.’b,z hic= c.,a’z 0
7--H

Let a+b+c be inclined to @b.¢ at angles ©1,6,.0; respectively.

o 9
(a+b+r; A ga+batca ‘f_

?

And

a+b+c a[ a+b+c a[ 1a+b+c

A R e T T
(a+b+c)b obsbbrch

& e 3

cosf, =1— br—_- »——3 [_

a+b+c||b

e S S

(“"‘b"'c € agc+bc+ee

cosf, = ——> > = =
a+b+clle |a+b+c|c

Since H= H= H, cosO, =cosf, =cosb,

Thus, 6, =6, =6,
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Question 15:

o b d i b i )
Prove that (a “‘;j'(a ”;3 o |;F * |;F ifand only if @ and & are perpendicular, given a #0,6# 0

e

= o o ,
:>a.a+ab+b.a+b.b:‘gf+‘!;r

e e
e
—_

= 2ab=0
-

=ab=0

Thus, a and b are perpendicular.

Question 16:
If 6 is the angle between two vectors a and b, then a.h>0 only when

T T
0<8 <— 0<o<—

A (B) 2
(C)0<0<x (D) 0<O=n
ab>0
:>|c;“b003620
=cosf >0 [ HZO and ‘f:rz OJ
:OSQSE

2

T
= 0<0<—
Hence ab=0 if 2

Thus, the correct option is B.

Question 17:
Let a and b be two unit vectors and 0 is the right angle between them. Then a+5 is a unit
vector

E VA

7% ® "3 © %72 D RE
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We have @ and b , two unit vectors and 6 is the angle between them.

-

Now, a+b is a unit vector if |a * J: I
Therefore,

Then,

= ;+b ; .f;+b =]
] .
=aa+ab+ba+bb=1

h —_3
:‘;r+20b+‘;r=l
:>12+2|;ﬂl;(cose+lzzl
= 1+2(1)(1)cosf +1=1
:(:osé?z—l

2

:>9:2_:r
2

21

S . 0=
Hence, a+5 is a unit vector if 2

Thus, the correct option is D.

Question 18:

The value oflf'(j ;k)ij'(f;k):k‘(j;"i) is
(A) 0 (B) -1 ©1 (D) 3

B I () Tyt by
=1-1+1
=1

Thus, the correct option is C.

Question 19:

If O is the angle between any two vectors a and b‘, then |‘:’b_[= |a X};[ when 6 is equal to
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T T
(A) 0 (B) 4 © 2 (D) n

Let O be the angle between two vectors a and b

Then, without loss of generality, a and b are non-zero vectors, so that ‘;( and H are positive.

Now,

-]
=5 &cjﬂb cost =|(:Hb sin @

= ¢cosf =sind

=tanf =1
:>l9=E
4

So, ’;'q: |;Xq when 0 :%

Thus, the correct option is B.
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